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Today in class we attempted to follow the
two rules shown in the orange box below. It
was difficult!

| |
All gas follows these rules:
Avogadro's Principle: Equal sized boxes have the same number of gas molecules.
The Law of Conservation of Mass: Any atoms that exist before the arrow must be the same as the
number of atoms after the arrow. '
Assume all boxes are the same size.

Here is a correct solution to the hardest
problem we did during classwork today.
Very few people got this solution correct:
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